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019 MATHMETH EXAM 1 6

Question 4 (4 marks)

a.

Solve 1— cos[%} =C0s [;) forx e[-27, n]. 2 marks

Let g: [2n, 7

=R, g(x)=1-f(x).

Sketch the graph of g on the axes above. Label all points of intersection of tlle graphs of f'and g, and
the endpoints of g, with their coordinates. 2 marks

g()=] - ea(3)
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7 2019 MATHMETH EXAM 1

Question 5 (5 marks)

Let /:R\{l} > R, f(x)= % +1.
(x-1)?
a. i. Evaluate f(-1). I mark
ii. Sketch the graph of f on the axes below, labelling all asymptotes with their equations. 2 marks
——1
| \ f
I {
‘ | !
| I \
| | |
} t f
-5 -4 -3
! = -

b.  Find the area bounded by tHe graph of £ the x-axis, the line x = -1 and the line x = 0.

2 marks

X ={ |

TURN OVER

hif 2407 7014152
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